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Notation: y’sfdl and "_d_l
dt dz‘2

1.

2.

3.

Solve the following differential equation: )’ + % y= 4{2 , t>0.

Find the solution of the differential equation: )"+ 3" -2y =2r, »(0)=0, V'(0)=1.

Solve the differential equation: y" -2y -3y =f(r), »(0)=1, »'(0)=0, with

0 for0<t<4
)= .
/@ {12 fort >4

Solve the integral equation: f(¢)=1-1-2 I (; f(@)sin(t - ) da.

¢ —sind
Under what condition of @, the matrix A = {COS sin6 |

sind cos@

-1 4 -2
Let A=|-3 4 0
-3 1 3

(a) find a matrix P that diagpnalizes A.
(b) determine PLAP.

Solve the value of X3 in the following equation by Cramer’s rule,

x1—3x2+ X3 = 4
2x1 — Xy ==-2.
4x —3x3 =10

Find a basis for the space spanned by the vectors

vi=(0-20,0,3), v5=(2,-5-3,-2,6). v3=(0,51510,0), v4=(2,6,18,8,6).

THE END

J has no real eigenvalue.
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